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Question Number : 1 Question Id : 8247247701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following principle suggests that growth follows a pattern that begins with the head
and upper body parts and then proceeds to the rest of the body?

Options :

1. The cephalocaudal principle

2. The proximodistal principle

3. The principle of hierarchial integration

4. The principle of independence of systems

Question Number : 1 Question Id : 8247247701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247247702 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): While some cultures might celebrate the onset of menarche in adolescent girls, in

other cultures this might be kept a secret.

Reason (R): Childhood experiences are different for children who grow up in different cultural

contexts.

Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 2 Question Id : 8247247702 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 8247247703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is a result of the continuous and complex interaction between hereditary and

socio-cultural environment.

Options :

1. Only cognitive development

2. Only social development

3. Both cognitive and social development

4. Physical, cognitive and social development

Question Number : 3 Question Id : 8247247703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247247704 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is an agency of primary socialization while is an agent of secondary

socialization.

Options:

1. family; neighbourhood
2. family; books

3. school; religion

4. school; peers

Question Number : 4 Question Id : 8247247704 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 8247247705 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, what are the most important characteristics of a teacher?
Options :

1. Inflexibility and Autocracy

2. Authoritativeness and Rigidity

3. Domination and instruction

4. Flexibility and mobility

Question Number : 5 Question Id : 8247247705 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 8247247706 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which stage of cognitive development can a child reason the following?



All toffees are sweet.
This candy is toffee.

Therefore: This candy is sweet.
Options :

1. sensori motor stage

2. pre-operational stage

3. concrete operational stage

4, formal operational stage

Question Number : 6 Question Id : 8247247706 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 8247247707 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who proposed that cultural tools play an important role in cognitive development?
Options :

1. Lev Vygotsky

2. Jean Piaget

3. B.F. Skinner

4. Lawrence Kohlberg

Question Number : 7 Question Id : 8247247707 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247247708 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Lev Vygotsky's theory, is very important for children to learn.

Options :
1. reward

2. avoidance of punishment



3. social interaction

4. conditioning

Question Number : 8 Question Id : 8247247708 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 8247247709 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a progressive classroom -

Options :

1. children's participation is minimal.

2. children memorize facts given in the textbooks.
3. children work both individually and in groups.

4. children are assessed through paper-pencil tests only.

Question Number : 9 Question Id : 8247247709 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 8247247710 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Depiction of men and women in non-conformist gender roles encourages children to

have gender-role flexibility.

Reason (R): Gender is biologically determined at the time of birth.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 10 Question Id : 8247247710 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 8247247711 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of Kohlberg's stages with their underlying
principles?

Options :

1. Social-contract orientation - laws and rules are considered flexible

2. Good-boy - Good-girl orientation - focus on fear of authority and avoidance of punishment
3. Law and Order Orientation - equal exchange of favours

4. Social order maintaining orientation - self-chosen ethical principles of conscience

Question Number : 11 Question Id : 8247247711 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247247712 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per Howard Gardner's theory of multiple intelligences, intelligence includes -
Options :

1. a set of capabilities that allow an individual to learn.

2. a permanent change in behaviour as a result of experience.

3. the capacity of an individual to produce novel/original answers to products.

4. the ability to produce a single response to a specific question.

Question Number : 12 Question Id : 8247247712 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 8247247713 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following has been advocated in the National Education Policy 2020?
(i) Holistic development of learners

(ii) Experiential learning

(iii) Reduction in curriculum content

(iv) Multilingualism
Options :

1. (i) (i)

2. (i) (iv)

3. (i) (ii) (iii) (iv)

4. (i) (ii) (iv)

Question Number : 13 Question Id : 8247247713 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. (D) (i)
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Question Number : 14 Question Id : 8247247714 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An example of question that promotes analysis is -

Options :

1. When was the Right to Education Act passed?

2. What can you infer from depiction of men and women in media after watching advertisements?
3. In which year was Lev Vygotsky born?

4. Name the stages of cognitive development proposed by Jean Piaget.

Question Number : 14 Question Id : 8247247714 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247247715 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assessment for learning includes -

(i) Assessment before, during and after the teaching-learning
(ii) Self-assessment

(iii) Formal as well as informal procedures

(iv) Feedback for students and the process of teaching-learning
Options :

1. (i) (iv)

2. (i) (i) (iv)

3. (i) (iii) (iv)

4. (i) (i) (iii) (iv)

Question Number : 15 Question Id : 8247247715 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 8247247716 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Principle of Inclusive education promotes:
Options :

1. Deficit approach to view students

2. Medical model of disability

3. Respect for individual differences

4, Segregation of students

Question Number : 16 Question Id : 8247247716 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247247717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following significantly impacts social communication skills and ability to make

friends?
Options:

1. Autism

2. Dysgraphia

3. Cerebral Palsy

4. Locomotor Disability

Question Number : 17 Question Id : 8247247717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 8247247718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will hamper inclusion of student with Dysgraphia?
Options :

1. Compulsory written assignments for assessment

2. Extra time to make notes and share ideas

3. Provide typed copies of classroom notes

4. Provide an audio recorder or a laptop in class

Question Number : 18 Question Id : 8247247718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 8247247719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



For the successful inclusion of students with hearing impairment, a teacher should:
Options:

1. discourage use of sign language.

2. extensively use verbal explanations.

3. provide audio tapes of lectures.

4. use ample non-verbal expressions.

Question Number : 19 Question Id : 8247247719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 8247247720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accommodation strategy with

respect to inclusion of students with the specified learning preferences?
Options:

1. Auditory: Assessment based on written work

2. Visual: Content delivered mainly through lecture

3. Kinesthetic: Expect passive listening



4. Tactile: 'Hands-on’ experiences for learning

Question Number : 20 Question Id : 8247247720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247247721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does the following statement illustrate?

Children of fruit and vegetable sellers learn addition of numbers earlier than their peers.
Options:

1. Learning occurs in a socio-cultural context.

2. Learning does not take place outside the school.

3. Curriculum should be decontextualized.

4. Curriculum should be centralized.



Question Number : 21 Question Id : 8247247721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 8247247722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher should not allow children to participate actively in the classroom

discussion.

Reason (R): Children are not capable of constructing knowledge and learn best through reception.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).

3. (A) is true but (R) is false.



4. Both (A) and (R) are false.

Question Number : 22 Question Id : 8247247722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 8247247723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should see cultural differences of the children in his classroom as:
Options :

1. Barriers in process of learning

2. Defects among children

3. Irrelevant to the process of learning

4. Strengths to build upon

Question Number : 23 Question Id : 8247247723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 8247247724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students learn meaningfully and effectively when teacher uses approach for teaching-

learning.

Options :

1. Behavioristic

2. Constructive

3. Decontextualized

4. Mechanical

Question Number : 24 Question Id : 8247247724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247247725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following condition will facilitate students' learning and thinking?
Options :

1. Creating situations where students are passive listeners.

2. Discouraging participation in classroom discussion.

3. Restricting students to take control over their own learning.

4. Providing students with hands-on activities.

Question Number : 25 Question Id : 8247247725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 8247247726 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Alternative conceptions of students -

Options :

1. are not at all related to their social and cultural experiences.

2. illustrate that students have an inherent need for meaning-making.
3. should be discouraged by completely ignoring them.

4. helps the teachers in identifying with low intellectual capabilities.

Question Number : 26 Question Id : 8247247726 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 8247247727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following factors/techniques hinders problem-solving in children?
Options:

1. Visual representations of problems

2. Focus on functional-fixedness

3. Use of analogies

4. Breaking the problem into parts

Question Number : 27 Question Id : 8247247727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 8247247728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

- thinking about our own thinking is a key component of our own ability to regulate

our own learning processes.
Options :
1. Attentional processes

2. Retentional processes



3. Cognition

4. Metacognition

Question Number : 28 Question Id : 8247247728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 8247247729 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following strategies would not be helpful in motivating children for learning

meaningfully?

Options:

1. Encouraging mastery-oriented goals

2. Creating collaborative learning ethos

3. Cultivating positive teacher-student relationships

4. Promoting entity view of ability in students

Question Number : 29 Question Id : 8247247729 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 8247247730 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Anxiety of exams and fear of failure -
Options :

1. do not have any effect on learning.
2. facilitate effective learning.

3. have a negative effect on learning.

4. intrinsically motivate students for learning.

Question Number : 30 Question Id : 8247247730 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Section Id : 824724221
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Section type: Online
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Number of Questions to be attempted : 60
Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724421
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8247247731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Manuscript comes from the Latin word ‘manu’ meaning
Options :

1. Man



2. Hand
3. Text

4. Intellect

Question Number : 31 Question Id : 8247247731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 8247247732 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The following statements a, b, ¢, d are related to iron pillar at Mehrauli, Delhi. Choose the correct

option:

a) It is made of Iron

b) Its height is 7.8m

c) It was made about 1800 years ago

d) Its weight is 4 tonnes



Options :

1.a, b, cand d are correct

2.a and d are correct while b and c are wrong
3.a, b and d are correct while c is wrong

4. a, cand d are correct while b is wrong

Question Number : 32 Question Id : 8247247732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 8247247733 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The foreign pilgrim who spent time at Harshavardhana'’s court was
Options :

1. Fa Xian



2. Xuan Zang

3.1Qing
4. Sung Yun

Question Number : 33 Question Id : 8247247733 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 8247247734 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Megaliths were erected to mark
Options :

1. ownership of land

2. inscribe one’s achievements

3. birth in the family

4. burial sites

Question Number : 34 Question Id : 8247247734 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 8247247735 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Life is full of suffering and unhappiness. This is because we love cravings and desires (which often

cannot be fulfilled)

Who has given the above mentioned doctrine?
Options :

1. Vardhamana Mahavir

2. Rishabha Dev

3. Gautam Buddha

4. Shankaracharya

Question Number : 35 Question Id : 8247247735 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 8247247736 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true regarding ‘The Sangha'?

Options:

1. Men and women who joined the Sangha could stay in their house.

2. They had to go to the cities and villages to beg for food during fixed hours.

3. The slaves did not have to take permission of their masters to join the Sangha.

4. Women did not have to take permission of their husbands to join the Sangha.

Question Number : 36 Question Id : 8247247736 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 8247247737 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following two statements A and B about Jhum cultivation and choose the correct

answer.
A : The British effort to settle Jhum cultivators was very much successful

B: The Jhum cultivators in North-East India insisted on practising traditional method.
Options :

1. Both A and B are true

2. Both A and B are false

3. Ais true but B is false

4. Ais false but B is true

Question Number : 37 Question Id : 8247247737 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 8247247738 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements A and R and choose the correct option.

A : Read and Munro argued that, in south, the settlement had to be made directly with the

cultivators .

R: Read and Munro felt that in the south, unlike North, there were no traditional zamindars.
Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true and (R) is not the correct explanation of (A)

3. (A)is true, but ( R) is false

4. Both (A) and ( R) are false

Question Number : 38 Question Id : 8247247738 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1 2T A T3 R %1 05 78 WE fehed o —
A, ¥ <17 701 31 7 o7 Top afeq & wiver feraTT o6 e & srare A e
R. fiz &R *\-fsﬂ‘:l- I SAT 9T, I F 19, ZF907 § WorrTe SHiER 72 9

Options :



. (A) ¥ (R) T FE & o4 (R) e et 7 2 (A) F

| (A) 3T (R) T W 2 =ifeh (R) F2T s3I 721 2 (A) Fil

2

, (A) TE 2 #f (R) T 2

, (A) I (R) 3T e 2

Question Number : 39 Question Id : 8247247739 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements:
(a) The Begums of Bhopal founded a primary school for girls in Aligarh
(b) Pundita Rama Bai published a book called Stripurushtulna

(c) Begum Rokeya Sakhawat Hossain started school for Muslim girls in Patna
Options :

1. a, b and c are correct

2.only aand b are correct

3.only a and c are correct

4. only b and c are correct

Question Number : 39 Question Id : 8247247739 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 8247247740 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an argument against the practice of Sati?
Options :

1. Women are by nature unworthy of trust.

2. If you do not educate women, how can you consider them as inferior.
3. Women by nature are of inferior understanding.

4. Many women, on the death of their husbands, become desirous of accompanying them.

Question Number : 40 Question Id : 8247247740 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 8247247741 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statements (A) and (R)
(A) : Throughout the 19" century, most educated women were taught at home.

(R): Most people in the 19t" century believed that women should stay away from public sphere.
Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true and (R) is not the correct explanation of (A)

3.(A)is true, but ( R) is false

4. Both (A) and ( R) are false

Question Number : 41 Question Id : 8247247741 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 8247247742 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following events has a significant relation with the state of Assam?
Options :

1. Mopila Rebellion

2. Deccan Riots

3. Khilafat movement

4. Swadeshi movement

Question Number : 42 Question Id : 8247247742 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 8247247743 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The overarching theme of the book 'Poverty and Un-British Rule in India', by Dadabhai Naoroji is

about

Options :

1. the governance and administration of British India Government.

2. the payment of wages paid mainly to weavers during the colonial period.
3. the economic impact of British rule in the Indian subcontinent.

4. the salaries and perks paid to officials of East India Company.

Question Number : 43 Question Id : 8247247743 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 8247247744 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Madras Presidency, for which of the linguistic community, Potti Sriramulu, a Gandhian wanted a

separate state in 1950s and died?
Options :

1. Tamil

2. Kannada

3. Telugu

4. Malayalam

Question Number : 44 Question Id : 8247247744 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 8247247745 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match the following column:

A B
(a) Earth’s movement on its axis (i) Revolution
(b) Earth’s movement in a fixed orbit around the sun | {ii) Equinox
(c) Division of days and nights on the globe (iii) Rotation
(d) Time of equal days and nights on earth (iv) circle of illumination

Options :

1. (a) - (i), (b) - (iii), (c) - (iv), (d) - (ii)
2. (a) - (iii), (b) - (i), (c) - (iv), (d) - (i)
3. (@) - (i), (b) - (iii), (c) - (i), (d) - (iv)
4. (a) - (iii), (b) - (i), (c) - (i), (d) - (iv)

Question Number : 45 Question Id : 8247247745 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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, a-(iii), b-(i), c-(iv), d-(ii)
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5. a-(iii), b-(i), e~(ii), d-(iv)

Question Number : 46 Question Id : 8247247746 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While reading a map showing time zones, a child asks ‘why are +5, -5, +3, -3 etc. marked on this
map?'. Which of the following must be included by the teacher while clarifying the student’s query

in her class?
(A) International time zones
(B) Relative position of longitude of the particular place from Greenwich

(C) Relative position of latitude of the particular place from Greenwich
Options:

1. Only (A) and (B)

2. Only (B) and (C)

3. Only (A) and (C)

4. Only (A)

Question Number : 46 Question Id : 8247247746 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 8247247747 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements (A), (B) and (C) and choose the correct option:
(A) The area between the Tropic of cancer and Tropic of Capricorn is called Temperate Zone.
(B) Heat zones of the world are categorised according to longitudes.

(C) In Frigid zones, sun rays are always slanting and provide less heat.
Options :

1. Only (A) is true

2. Only (B) is true

3. Only (C) is true

4. Both (B)and ( C) are true

Question Number : 47 Question Id : 8247247747 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 8247247748 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher wants to discuss the theme of standard time in her class. Which of the following is/ are

the most appropriate concept / concepts for this discussion?

(A) Latitude of the particular place

(B) Longitude of the particular place

(C) Local time

(D) Comparative location of the place with respect to Greenwich.

Choose the correct option.
Options :

1. (A), (B)and ( C)



2.(B), (C)and (D)
3.(A), (C)and (D)
4. only (C)

Question Number : 48 Question Id : 8247247748 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 8247247749 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Find the odd one out of the following:
Options :

1. Convectional Rainfall



2. Orographic Rainfall
3. Cyclonic Rainfall

4. Tidal Rainfall

Question Number : 49 Question Id : 8247247749 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 8247247750 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider these two statements in the context of change of seasons
A. The axis of rotation of the earth is tilted with respect to the plane of its orbit.
B. The revolution of the earth and inclination of its axis in a fixed direction causes seasons.

Choose the correct option.
Options :
1. Ais true and B is false.

2. Ais false and B is true.



3. Both A and B are true.

4. Both A and B are false.

Question Number : 50 Question Id : 8247247750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 8247247751 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about tides is correct?

Options:

1. Low tides help in navigation.

2. The rhythmic rise and fall of ocean water twice in a month is called tide.
3.Itis high tide when water falls to the lowest level and recedes from the shore.

4. The strong gravitational pull exerted by the sun and the moon on the earth’s surface cause the

tides.



Question Number : 51 Question Id : 8247247751 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 8247247752 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements (A), (B) and (C) and choose the correct option:
(A) The density of atmosphere varies with height
(B) The density of atmosphere is maximum at the sea level

(C) The density of atmosphere is minimum at the sea level

Options :
1. Only (A) and (B) are true
2. Only (B) and (C) are true

3. Only (A) and (C) are true



4. All (A), (B) and ( C) are true

Question Number : 52 Question Id : 8247247752 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 8247247753 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct for contour barrier?

Options :

1. Rows of trees planted to check the wind movement to protect soil cover.
2. Broad flat steps are made on the steep slope to reduce soil erosion

3. Ploughing parallel to contours of a hill to form a natural barrier

4, Stones, grass and soil are used to build barriers along contours.



Question Number : 53 Question Id : 8247247753 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 8247247754 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements (A), (B) and (C) for transhumance and choose the correct option:

(A) Transhumance is a seasonal movement of people.
(B) Transhumance is an example of migration from rural to urban areas.

(C) People use advanced mode of transportation while practising transhumance.
Options :

1. Only (A) is true

2. Only (B) is true

3. Only (Q) is true

4. Both (A) and ( B) are true



Question Number : 54 Question Id : 8247247754 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 8247247755 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In which of the following place, a thermal power plant is located?
Options :

1. Narora, Uttar Pradesh

2. Manikaran, Himachal Pradesh

3. Kalpakkam, Tamilnadu

4. Tarapore, Maharashtra

Question Number : 55 Question Id : 8247247755 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 8247247756 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following concepts can best be used in a discussion on conservation of minerals in an

elementary middle stage classroom?
(A) Re-use

(B) Renew

(C) Reduce

(D) Recycle

Choose the correct option.
Options:

1.(A), (B)and ( C)

2.(B), (C)and (D)

3.(A), (C)and (D)



4. All (A), (B), (C) and (D)

Question Number : 56 Question Id : 8247247756 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T e 1 e e e e A 4 T
i

AE?W

B. Tt

C. T A

0 5

(i) ot
T e 8 S AT

Options :

1. (A). (B) @ (C)

, (B),(C) T (D)

5 (A), (C) 7 (D)

4. T (A), (B) (C)Tem (D)

Question Number : 57 Question Id : 8247247757 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is true about cotton crop?
(A) It requires two hundred and ten frost-free days and bright sunshine for its growth.

(B) It requires heavy rainfall.



(C) It requires sandy soil.

Choose the correct option.
Options :

1. Only (A) is true

2. Only (B) is true

3.Only (C) is true

4. Both (A) and (C) are true.

Question Number : 57 Question Id : 8247247757 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 8247247758 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Boat race is associated with which festival in India?
Options:

1. Pongal

2.0nam

3. Hampi

4. Ugadi

Question Number : 58 Question Id : 8247247758 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 8247247759 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read statements (A) and ( R) about Ladakh and choose the correct option.

Assertion(A) : People of Ladakh mainly depend on cattle rearing for their livelihood.

Reasoning (R) : This region receives good rain, yet the land is not suitable for cultivation purposes.

Options:



1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true and (R) is not the correct explanation of (A).
3. (A) is true, but (R) is false.

4. Both (A) and ( R) are false.

Question Number : 59 Question Id : 8247247759 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 8247247760 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Parliament of India consists of

Options :

1. Prime Minister, President, the Rajya Sabha and the Lok Sabha.
2. President, Chief Minister and Prime Minister.

3. President, the Rajya Sabha and the Lok Sabha.



4. Prime Minister, the Rajya Sabha and the Lok Sabha.

Question Number : 60 Question Id : 8247247760 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 8247247761 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read statements (A) and (R ) and choose the correct option.
Assertion(A): Government collects money in the form of tax from its citizens.

Reason (R) : Government provides some services especially to the poor who cannot afford to

purchase them from the market e.g. healthcare.
Options :

1. Both (A) and (R ) are correct

2.0nly (A) is correct

3. Only (R) is correct

4. Both (A) and ( R) are wrong



Question Number : 61 Question Id : 8247247761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 8247247762 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What are 'call centres'?

Options :

1. Administrative offices of telephone service providers.
2. Centralized offices dealing with customers’ calls.

3. A modern form of Public Call Office (PCO).

4. Large scale cyber café.

Question Number : 62 Question Id : 8247247762 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 8247247763 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose their correct order in a market economy.
a. Ginning mill cleans the cotton and makes it into balls

b. Weavers return with cloth

c. Spinning mill buys the cotton and sells yarn to the yarn traders

d. Yarn dealers give the yarn to the weavers.

Options:
Options :
1.a,b,candd
2.a,¢,dand b
3.a,d,candb
4.a3,¢,bandd



Question Number : 63 Question Id : 8247247763 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 8247247764 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who was the founder of Bhartiya Jana Sangh?
Options :

1. M. S. Golwalkar

2. V. D. Savarkar

3. Acharya Kripalani

4,
Shyama Prasad Mukherijee.



Question Number : 64 Question Id : 8247247764 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Options :
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Question Number : 65 Question Id : 8247247765 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The women’s movement raises its voice when violations against women take place. Which of the

following is a very powerful way for drawing attention to injustices?
Options :

1. Laws and guidelines

2. Information and awareness

3. Public rallies and demonstrations

4. Social advertisement and advocacy

Question Number : 65 Question Id : 8247247765 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 8247247766 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fill in the blank:

Fatima an agricultural labourer met with an accident. Eight government hospitals refused to admit

her. She could, go to court and plead that her Right to was violated.

Options :

1. Health insurance cover
2. Equality

3. Constitutional Remedies

4. Life

Question Number : 66 Question Id : 8247247766 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 8247247767 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which values are embedded in the Preamble of the Indian Constitution?
Options :

1. Human values that guide humanity.

2. Monetary values involving entrepreneurship.

3. Spiritual values of Vedic-period.

4. National values that inspired the freedom struggle.

Question Number : 67 Question Id : 8247247767 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 8247247768 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In India, the decisions made by higher courts are binding on the lower courts. This refers to
Options:

1. Single and Integrated Judicial System

2. Judiciary as the interpreter of the constitution

3. Guardian of Fundamental Rights

4. Open trial

Question Number : 68 Question Id : 8247247768 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 8247247769 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Air pollution in cities like Delhi came down considerably as a result of the Supreme Court order

that says.

Options :

1. All older vehicles must be replaced by new vehicles.

2. All public transport vehicles using diesel should switch to Compressed Natural Gas (CNG).
3. Significant decrease in the number of diesel cars.

4. All vehicles should follow pollution rules and regulations on road.

Question Number : 69 Question Id : 8247247769 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 8247247770 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements -
A. Adivasi religions have influenced dominant religions of the empires.

B. The Jagannath cult of Orissa and Shakti traditions in Bengal and Assam are examples of

influence of Adivasi religions.

Choose the correct option.
Options :

1. A and B are correct

2. Alis correct, B is incorrect
3. Aisincorrect, B is correct

4. A and B are incorrect

Question Number : 70 Question Id : 8247247770 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 8247247771 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a discussion on 'affirmative action' in India, which of the following topics is relevant for the

social science teacher to focus on-

Options :

1. Difference between equity and equality

2. Universal Declaration of Human Rights

3. The childhood experiences of Dr BR Ambedkar

4. Which universities in India have higher ranking

Question Number : 71 Question Id : 8247247771 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 8247247772 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following activities of Political Science helps students develop 'critical thinking' skills?
Options:

1. Writing a note that summarizes what Plato said about democracy

2. Summarizing election manifestos listing ideas of different political parties

3. Taking a pledge to always follow the principles of the Constitution

4. Discussing how the Indian Constitution reflects the principles of democracy

Question Number : 72 Question Id : 8247247772 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 8247247773 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following topics are necessary to be covered BEFORE introducing the topic of

earthquakes?

i) Magma



if) Exogenic forces
iii) Lithosphere

iv) Epicentre
Options :
1.0,

2. 1,iii
4. ii,iv

Question Number : 73 Question Id : 8247247773 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 8247247774 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A newspaper article stated that an employer asked candidates which state they belonged to and

accordingly decided whether to proceed with the interview or not.

The above example is in violation of which of the following rights?
Options :

1. Right against exploitation

2. Right to employment

3. Right to equality

4. Affirmative action for locals

Question Number : 74 Question Id : 8247247774 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 8247247775 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Mr. Kamal wants to explain the concept of 'social advertisement' to his students.

Which of the following examples is LEAST relevant?
Options :

1. Display of hoardings on Swacch Bharat Mission

2. Distribution of pamphlets on female infanticide

3. Newspaper advertisement on adverse effects of smoking

4. Election manifesto of a political party highlighting what issues they will work on

Question Number : 75 Question Id : 8247247775 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 8247247776 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following topics is LEAST suitable to be taught using the 'constructivist approach'?

Options:



1. Soil deposits in Indian plains
2. The different seasons in India
3. Importance and usefulness of forests

4. Conservation of water

Question Number : 76 Question Id : 8247247776 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT % - 1 e Teee: eI 361 9T e T, S oA, el 3 909 27
Options :

WA Fem 7 gt = e

1
, WA T fate= gres

4, ST ETLI0T

Question Number : 77 Question Id : 8247247777 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A Geography teacher is starting a topic on ocean currents. Which of the following topics can

teacher start with?
Options :

1. Lithospheric plates
2. Latitudes

3. Water cycle

4. Wind



Question Number : 77 Question Id : 8247247777 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 8247247778 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following examples is suitable to teach about the process of greenhouse effect?
Options :

1. Stationary cars on a hot day

2. Planes flying above cities with high temperature

3. Rising sea levels

4. Depletion of forests and trees

Question Number : 78 Question Id : 8247247778 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 8247247779 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following questions related to architectural development under the Mughals

promote critical thinking skills?

Options :

1. How did Mughal rulers procure material for building the monuments?

2. How have the Mughals contributed to the architectural styles present in India?
3. What are the similarities between Mughal architecture and Persian architecture?

4. What were the architectural accomplishments of Shah Jahan?

Question Number : 79 Question Id : 8247247779 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 8247247780 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student in class says, "Bandagans or military slaves had a high status during the time of Khaljis
and Tughlugs. So in medieval India, slaves seemed to have held a good position in Sultanate

courts."

Which of the following types of reasoning is the student using while making this statement?
Options :

1. Inductive reasoning

2. Deductive reasoning

3. Cause-effect reasoning

4. Reductive reasoning

Question Number : 80 Question Id : 8247247780 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 8247247781 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After a field visit to the mall, Economics teacher Ms. Rabia overhears three of her Standard VIII

students:

Student 1: Malls are public facilities. After all, everyone is allowed to enter them.
Student 2: No, no, malls are run by private companies. They make a profit out of them.

Student 3: That is true. But if they are profitable, why doesn't the government run them?

Help the teacher arrange the students in INCREASING order of conceptual clarity.
Options:

1. Student 2 < Student 3 < Student 1

2. Student 1 < Student 2 < Student 3

3. Student 3 < Student 2 < Student 1

4. Student 1 < Student 3 < Student 2

Question Number : 81 Question Id : 8247247781 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 8247247782 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher uses a research article with rich data, as a resource to teach students about India's
relations with other nations. However, during the class, the teacher and students come across a

paragraph that paints a neighbouring country in a strongly negative light.

Which of the following is the most responsible approach for the Social Science teacher?
Options :

1. Tell students that you were not aware of these paragraphs and they should only use their
textbook for learning various topics.

2. Switch to another, less useful, source instead, to continue the class. Discussing the controversy

would only waste time.

3. Analyse the paragraph along with students, where they can discuss and debate the

assumptions made or data given about the country.

4. Continue reading the article as-is, since the students in your class are all from India and it



should not hurt their sentiments.

Question Number : 82 Question Id : 8247247782 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 8247247783 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching a topic, a History teacher comes across a particular paragraph which paints a

famous historical figure in a bad light.

Which of the following is the responsible approach for the History teacher?

Options :



1. Analyse the paragraph along with students and discuss the assumptions made in the book.
2. Continue reading the paragraphs since the particular figure is not important in her view.
3. Tell students more about why the particular figure has been painted in a negative light.

4. Ask students to ignore the negative part since history should focus on positive aspects of

leaders and continue to work on the topic.

Question Number : 83 Question Id : 8247247783 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 8247247784 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A history teacher wants to teach his students about religious practices in Harrapan civilization.

Which of the following sources would be the 'primary source' for this?

Options :



1. Early India - a book by Romila Thapar
2. A study on the religious practices of the Harappan civilization
3. A museum with a collection of artifacts from the Harappan period

4. Fossils dated back to the Harappan period

Question Number : 84 Question Id : 8247247784 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 8247247785 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A Geography teacher asked her students- "What would happen if the Earth stopped rotating on its

axis?"

Among the answers given by students (in options below), choose the one with conceptual clarity."
Options :
1. Northern side of the Earth would face extreme weather all the time.

2. Only one half of the Earth would receive sunlight and the other half would be in darkness.



3. The length of the year would change.

4. It would always be 5.30 a.m. in India.

Question Number : 85 Question Id : 8247247785 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 8247247786 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An assessment task asks students to draw a diagram showing the latitudes and heat zones of the

Earth.

Which of the following aspects of student knowledge or understanding need NOT be assessed

through this task?

Options :

1. Position of the Tropic of Cancer and Tropic of Capricorn with respect to the equator
2. Axis of the earth

3. Area of the Earth which receives the maximum amount of sunlight



4. The coldest regions on Earth

Question Number : 86 Question Id : 8247247786 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 8247247787 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mr. Daljeet asked his students to research and write a short note on "the most important reason

which led to the launch of the Civil Disobedience movement in India".
He then wants to use the submitted assignments for "assessment as learning".

Which of the following is the relevant question for him to ask students?

Options:

1. Who were the notable personalities leading the civil disobedience movement ?

2. Describe the academic resources that you used to conduct the research for your assignment

3. What was your thought process when you decided which reason to write about?



4. Pair up with a friend and check if you both have chosen the same reason to be the most

important.

Question Number : 87 Question Id : 8247247787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 8247247788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learning Objective: Students will show their understanding of humidity.

Which of the following question tests for this learning objective?
Options :

1. Name two cities with the highest humidity in India.

2. Why do clothes take more time to dry in humid weather?

3. How can you reduce humidity at home using technology?



4. Why do jet planes leave a white trail behind them?

Question Number : 88 Question Id : 8247247788 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 8247247789 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A class discussion on ancient cave paintings was as follows:

Kavya - Theories suggest that early humans made paintings on cave walls as a ritual before going

out to prey.

Rahul - No, it could have just been a form of leisure for them.

The teacher Mr. Kumar wants to use this discussion as a good opportunity to introduce a 'thinking



skill related to history'. Which of the following skills can he BEST introduce?
Options:

1. Decision making

2. Compare and contrast

3. Chronological thinking

4. Weighing the evidence

Question Number : 89 Question Id : 8247247789 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 8247247790 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students have just learnt how equality and justice are inseparable, and are asked to list examples

of this in India. The options show the responses of four students.



Which of these students shows the conceptual understanding?
Options :

1. Minimum wage for factory workers.

2. Reservations in government offices for women.

3. Mid-day meal program in government schools

4. Tax exemptions for charitable organizations.

Question Number : 90 Question Id : 8247247790 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I

SectionId : 824724222



Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724422
Question Shuffling Allowed : Yes

Question Id : 8247247791 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Study the passage given below and answer the question/complete
the statement that follow with the help of options given after each
question.

A few years ago | found myself in a tribal hamlet in upper
Assam- that's where | met a little miracle called Kalia. She was a
gibbon who'd adopted a human family. That's right, a human family
and not the other way around. But this wild animal wasn’t a pet. She
lived free, up in the canopies of trees and yet, she chose the
company of the villagers below because all of her own kind had
fallen prey to hunters. Kalia was the last gibbon in the region.

Hoolock gibbons are India’s lone species. They are both rare
and endangered, found only in the forests of northeast India. It's
easy to confuse apes with monkeys because they are both primates.
However, they are entirely separate groups of animals. The simplest
difference is the lack of a tail in apes. Chimpanzees, orangutans,
gorillas and gibbons are all apes. The smallest in that family are the
gibbons, India’s only apes — except for us as human beings are also
part of the ape family.

And that is exactly how Kalia treated me-like a fellow ape.
Within minutes of spotting me peering up at her in her tree, the
cheeky little gibbon came down, perched herself on my camera and
began grooming my head to look for nits!
| am glad | disappointed her but that didn’t stop us from striking up
a friendship. Kalia and | spent many afternoons thereafter;
grooming each other and bonding like we'd been friends for years.
She was a delight — intelligent, funny, affectionate adorable and as
human as a wild animal could be.

Sub questions

Question Number : 91 Question Id : 8247247792 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The writer of this article is a
tourist
photographer
conservationist

4. both (2) and (3)

i Bl =

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 8247247793 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When Kalia adopted a human family it was
1. a normal thing.
2. arisky thing.
3. anunusual thing.
4. not liked by the family.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247247794 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Gibbons don't have tails.
(b) Chimpanzees are not found in the jungles of India.
(c) Apes and humans belong to the same family.

. (a)is right and (b) is wrong
. (b) is right and (a) is wrong
(c) is right and (a) is wrong
4. Both (a) and (b) are right

W N =

Options:
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 8247247795 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘All of her own kind had fallen prey’ means :
1. Only her own family had been killed.
2. Villagers were very kind to her.
3. All gibbons in the area had been hunted.
4. The gibbon family had fallen down from their
dwellings.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247247796 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.
1. Kalia was a friendly ape.
2. Kalia was feeling lonely.
3. Kalia liked to be photographed.
4. Kalia adopted a human family for the sake of food.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247247797 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘in a tribal hamlet’

The word hamlet means
1. asmall town
2. asmall village
3. aclusters of trees
4, atribal hut

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247247798 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘perched herself on my camera’
The word ‘perched’ means :
climbed

clicked

settled

4. looked

.l il e

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247247799 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘It is easy to confuse apes with monkeys'.
It is afan clause
Principal

Noun

Adjective

Adverb

P L B b



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247247800 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘They are enfirely separate groups’.
The underlined word is an/an

1. Noun

2. Verb

3. Adjective

4. Adverb

Options:
1.1
2.2
3.3
4.4

Question Id : 8247247791 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Study the passage given below and answer the question/complete
the statement that follow with the help of options given after each
question.

A few years ago | found myself in a tribal hamlet in upper
Assam- that's where | met a little miracle called Kalia. She was a
gibbon who'd adopted a human family. That's right, a human family
and not the other way around. But this wild animal wasn’t a pet. She
lived free, up in the canopies of trees and yet, she chose the
company of the villagers below because all of her own kind had
fallen prey to hunters. Kalia was the last gibbon in the region.

Hoolock gibbons are India’s lone species. They are both rare
and endangered, found only in the forests of northeast India. It's
easy to confuse apes with monkeys because they are both primates.
However, they are entirely separate groups of animals. The simplest
difference is the lack of a tail in apes. Chimpanzees, orangutans,
gorillas and gibbons are all apes. The smallest in that family are the
gibbons, India’s only apes — except for us as human beings are also
part of the ape family.

And that is exactly how Kalia treated me-like a fellow ape.
Within minutes of spotting me peering up at her in her tree, the
cheeky little gibbon came down, perched herself on my camera and
began grooming my head to look for nits!
| am glad | disappointed her but that didn’t stop us from striking up
a friendship. Kalia and | spent many afternoons thereafter;
grooming each other and bonding like we'd been friends for years.
She was a delight — intelligent, funny, affectionate adorable and as
human as a wild animal could be.

Sub questions

Question Number : 91 Question Id : 8247247792 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The writer of this article is a
tourist
photographer
conservationist

4. both (2) and (3)

i Bl =

Options :

1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 8247247793 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When Kalia adopted a human family it was
1. a normal thing.
2. arisky thing.
3. anunusual thing.
4. not liked by the family.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247247794 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Gibbons don't have tails.
(b) Chimpanzees are not found in the jungles of India.
(c) Apes and humans belong to the same family.

. (a)is right and (b) is wrong
. (b) is right and (a) is wrong
(c) is right and (a) is wrong
4. Both (a) and (b) are right

W N =

Options:
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 8247247795 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘All of her own kind had fallen prey’ means :
1. Only her own family had been killed.
2. Villagers were very kind to her.
3. All gibbons in the area had been hunted.
4. The gibbon family had fallen down from their
dwellings.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247247796 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.
1. Kalia was a friendly ape.
2. Kalia was feeling lonely.
3. Kalia liked to be photographed.
4. Kalia adopted a human family for the sake of food.

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247247797 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘in a tribal hamlet’

The word hamlet means
1. asmall town
2. asmall village
3. aclusters of trees
4, atribal hut

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247247798 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘perched herself on my camera’
The word ‘perched’ means :
climbed

clicked

settled

4. looked

.l il e

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247247799 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘It is easy to confuse apes with monkeys'.
It is afan clause
Principal

Noun

Adjective

Adverb

P L B b



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247247800 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘They are enfirely separate groups’.
The underlined word is an/an

1. Noun

2. Verb

3. Adjective

4. Adverb

Options:

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724423

Question Shuffling Allowed : Yes

Question Id : 8247247801 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the following poem and answer the questions/complete the
statements by choosing the correct options from the given ones.
Sympathy
1) I lay in sorrow, in deep distress;
2) My grief a proud man heard,
3) His looks were cold, he gave me gold;
4) But not a kindly word.
5) My sorrow passed ..... | paid him back;
6) The gold he gave to me,
7) Then stood erect and spoke my thanks;
8) And blessed his charity ......
9) | lay in want, and grief and pain;
10) A poor man passed my way,
11) He bound my head, he gave me bread;
12) He watched me night and day.
13) How shall | pay him back again
14) For all he did to me?
15) Oh, gold is great, but greater far
16) Is heavenly sympathy

Sub questions

Question Number : 100 Question Id : 8247247802 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The proud man’s behaviour is an example of :
1) sympathetic attitude
2) philanthropy
3) empathy
4) pure kindness of heart

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247247803 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following statement.
A) The poor man gave money to the distressed man.
B) The poor man looked after the physical wellbeing of
the distressed man.
C) The distressed man cannot pay back the poor man.

Choose the best option:
1) Aistrue but B and C are false
2) A and C are false but B is true
3) Band C are true but A is false
4) A and B are true but C is false

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247247804 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which line in the poem shows that the distressed man
feels no obligation towards the proud man?

1) Line 3

2) Lined

3) Line5

4) Line7

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247247805 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What does an ailing person crave for?
1) physical help
2) money
3) medical help and food
4) emotional support

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247247806 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Ilay in want ........]
‘want’ here is used as a/an
1) adverb
2) adjective
3) verb
4) noun

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247247807 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the best option from those that follow.
Charity (line 8) means:

1) giving a present to someone.

2) giving money to a needy person.

3) making an appeal for donation.

4) to arrange a fundraiser.

Options :



1.1
2.2
3.3
4.4

Question Id : 8247247801 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the following poem and answer the questions/complete the
statements by choosing the correct options from the given ones.
Sympathy
1) I lay in sorrow, in deep distress;
2) My grief a proud man heard,
3) His looks were cold, he gave me gold;
4) But not a kindly word.
5) My sorrow passed ..... | paid him back;
6) The gold he gave to me,
7) Then stood erect and spoke my thanks;
8) And blessed his charity ......
9) | lay in want, and grief and pain;
10) A poor man passed my way,
11) He bound my head, he gave me bread;
12) He watched me night and day.
13) How shall | pay him back again
14) For all he did to me?
15) Oh, gold is great, but greater far
16) Is heavenly sympathy

Sub questions

Question Number : 100 Question Id : 8247247802 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The proud man’s behaviour is an example of :
1) sympathetic attitude
2) philanthropy
3) empathy
4) pure kindness of heart



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247247803 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statement.
A) The poor man gave money to the distressed man.
B) The poor man looked after the physical wellbeing of
the distressed man.
C) The distressed man cannot pay back the poor man.

Choose the best option:
1) Alistrue but B and C are false
2) A and C are false but B is true
3) Band C are true but A is false
4) A and B are true but C is false

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247247804 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which line in the poem shows that the distressed man
feels no obligation towards the proud man?

1) Line 3

2) Lined

3) Line5

4) Line7

Options:



1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247247805 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does an ailing person crave for?
1) physical help
2) money
3) medical help and food
4) emotional support

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247247806 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Ilay in want ........]
‘want’ here is used as a/an
1) adverb
2) adjective
3) verb
4) noun

Options :
1.1
2.2
3.3
4.4



Question Number : 105 Question Id : 8247247807 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the best option from those that follow.
Charity (line 8) means:

1) giving a present to someone.

2) giving money to a needy person.

3) making an appeal for donation.

4) to arrange a fundraiser.

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724424

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 8247247808 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The term for describing the linguistic input to the language learning child is
1. motherese
2. infant - directed speech
3. child —directed speech
4. caregiver speech

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 8247247808 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The term for describing the linguistic input to the language learning child is
motherese

infant - directed speech

child — directed speech

4. caregiver speech

el e

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247247809 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

B.F. Skinner claimed that language is learnt through
repetition and approximation

reinforcement and engagement

drill and practice

4. immersion and imitation

d: I

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247247809 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

B.F. Skinner claimed that language is learnt through
1. repetition and approximation
2. reinforcement and engagement
3. drill and practice
4. immersion and imitation

Options :



1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247247810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The early childhood stage is the most period when the foundation are laid for life-long development and
the realisation of full potential; research shows that there are ‘critical periods’ at this stage for full development of the
brain’s potential.

1. critical

2. vital

3. essential

4. potential

Options:
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247247810 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The early childhood stage is the most period when the foundation are laid for life-long development and
the realisation of full potential; research shows that there are ‘crifical periods’ at this stage for full development of the
brain’s potential.

1. critical

2. vital

3. essential

4. potential

Options :
1.1
2.2

3.3



4.4

Question Number : 109 Question Id : 8247247811 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In bilingual classroom learners can interact in
1. the medium of instruction followed by the school.
2. their own language and can be a mix of words from two or more languages.
3. only the language prescribed in three-language formula.
4. the language with which the teacher is familiar.

Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247247811 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In bilingual classroom learners can interact in
1. the medium of instruction followed by the school.
2. their own language and can be a mix of words from two or more languages.
3. only the language prescribed in three-language formula.
4. the language with which the teacher is familiar.

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247247812 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which test best described this situation: A teacher while preparing a worksheet removes every sixth word from the
text and asks the learner to read the text after they have been asked to complete the worksheet with the missing
word.

1. Diagnostic test

2. Cloze test

3. Open test

4. Proficiency test

Options:
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247247812 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which test best described this situation: A teacher while preparing a worksheet removes every sixth word from the
text and asks the learner to read the text after they have been asked to complete the worksheet with the missing
word.

1. Diagnostic test

2. Cloze test

3. Open test

4. Proficiency test

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247247813 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following do NOT constitute a part of evaluating listening comprehension?
1. Giving words to spell and pronounce
2. Giving dictation
3. Telling stories
4. Reading a texthook

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247247813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following do NOT constitute a part of evaluating listening comprehension?
1. Giving words to spell and pronounce
2. Giving dictation
3. Telling stories
4. Reading a textbook

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247247814 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue influence can be made as a support in English classroom by:
1. Conversing in mother tongue more often than in English
2. Giving examples from the mother tongue only
3. laying emphasis on exposure to the target language only
4. Giving meaningful inputs from the target language and using the languages of learners

Options :

1.1



2.2
3.3
4.4

Question Number : 112 Question Id : 8247247814 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue influence can be made as a support in English classroom by:
1. Conversing in mother tongue more often than in English
2. Giving examples from the mother tongue only
3. laying emphasis on exposure to the target language only
4. Giving meaningful inputs from the target language and using the languages of learners

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247247815 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Productive skills in language refers to
1. Speaking and writing skills
2. Speaking and listening skills
3. Reading and writing skills
4. Reading and speaking skills

Options:
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247247815 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Productive skills in language refers to
1. Speaking and writing skills
2. Speaking and listening skills
3. Reading and writing skills
4. Reading and speaking skills

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247247816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an Audio Teaching Learning material
1. Flash card
2. Telephonic conversation
3. Radio broadcast
4. Gramophone records

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247247816 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an Audio Teaching Learning material
1. Flash card
2. Telephonic conversation
3. Radio broadcast
4. Gramophone records



Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247247817 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Remedial reaching is
1. preparation for teaching
2. random process
3. teaching program for primary teachers
4, systematic process

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247247817 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Remedial reaching is
1. preparation for teaching
2. random process
3. teaching program for primary teachers
4, systematic process

Options :
1.1
2.2
3.3
4.4



Question Number : 116 Question Id : 8247247818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following should NOT be encouraged in an ideal language learning classroom:
1. Drill
2. Fun-acfivities
3. Storytelling
4. Role-playing

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247247818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following should NOT be encouraged in an ideal language learning classroom:
1. Drill
2. Fun-activities
3. Storytelling
4. Role-playing

Options:
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247247819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following would be the best suited for a child in Class Il who is initially leaving the language in an effective
manner;

1. Alphabet method

2. Practice and drill

3. Exposure to the language

4. Direct method of teaching language

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247247819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following would be the best suited for a child in Class Il who is initially leaving the language in an effective
manner;

1. Alphabet method

2. Practice and drill

3. Exposure to the language

4. Direct method of teaching language

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247247820 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Story telling as an activity should be used frequently in classrooms primarily because:
1. It provides the teacher the necessary space to engage in other academic task
2. It lays the foundation for logical understanding and imagination
3. It allows the student to role-play
4, It help the teacher to engage the learners and maintain discipline in the class.

Options :



1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247247820 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Story telling as an activity should be used frequently in classrooms primarily because:
1. It provides the teacher the necessary space to engage in other academic task
2. It lays the foundation for logical understanding and imagination
3. It allows the student to role-play
4. It help the teacher to engage the learners and maintain discipline in the class.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247247821 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

provides an opportunity to reflect crifically on issues in term of their political, social, economic and
moral aspects. It entails the acceptance of multiple views on social issues and a commitment to democratic form of
interaction. This is important in view of multiple contexts in which our schools function.
1. Critical pedagogy
2. Collaboration pedagogy
3. Child-centered teaching
4. Teacher-centered approach

Options :
1.1
2.2
3.3
4.4



Question Number : 119 Question Id : 8247247821 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

provides an opportunity to reflect critically on issues in term of their political, social, economic and
moral aspects. It entails the acceptance of multiple views on social issues and a commitment to democratic form of
interaction. This is important in view of multiple contexts in which our schools function.
1. Critical pedagogy
2. Collaboration pedagogy
3. Child-centered teaching
4, Teacher-centered approach

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247247822 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the science class the learners read a text on mammals and view a video on the life of mammals in different locales.
Such events or activities consist of mammals moving in group on land or in water, grazing, attacking a prey, giving birth,
flocking together at the time of danger and related events.
The learners provide explanations and defend their ideas or hypotheses using their analyses and text both within and
hetween groups. Evidence and arguments along with the text expose them to various ways of finding answers or
interpreting data. This process is

1. Collaboration

2. Interpretation construction

3. Multiple interpretations

4. Multiple manifestations

Options :
1.1
2.2
3.3
4.4



Question Number : 120 Question Id : 8247247822 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the science class the learners read a text on mammals and view a video on the life of mammals in different locales.
Such events or activities consist of mammals moving in group on land or in water, grazing, attacking a prey, giving birth,
flocking together at the time of danger and related events.
The learners provide explanations and defend their ideas or hypotheses using their analyses and text both within and
hetween groups. Evidence and arguments along with the text expose them to various ways of finding answers or
interpreting data. This process is

1. Collaboration

2. Interpretation construction

3. Multiple interpretations

4, Multiple manifestations

Options :
1.1
2.2
3.3
4.4

Language II
Section Id : 824724223
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724425

Question Shuffling Allowed : Yes



Question Id : 8247247823 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 8247247824 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
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Question Number : 122 Question Id : 8247247825 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247247826 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4



Question Number : 124 Question Id : 8247247827 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 8247247828 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frefeafiags o & forer 77 o6 SU=IR & Toqm uﬂ-llkg—w:ﬁ Eal
TR TR ST T 22
1. e
ST
. FET

3
4. TR

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247247829 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247247830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 8247247831 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 8247247823 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 8247247824 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247247825 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247247826 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 124 Question Id : 8247247827 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 125 Question Id : 8247247828 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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4.4

Question Number : 126 Question Id : 8247247829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 127 Question Id : 8247247830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 128 Question Id : 8247247831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Id : 8247247832 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No



Question Numbers : (129 to 135)

Question Label : Comprehension
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ajnt;}am & IEERECD IR,
|. T TF_fae

. TTSZaTE e et

3. T i

4. STRETF AT

Options :

[

1.1
2.2



3.3
4.4

Question Number : 130 Question Id : 8247247834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
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Question Number : 134 Question Id : 8247247838 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0

TR TeAq : T T 7 9783 29
. &t

=
t\ -

3. T
4. ==

Options :

[~

1.1
2.2
3.3
4.4

Question Id : 8247247832 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
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Question Label : Comprehension
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Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 8247247840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR Ve T T & Vet et 13 A 3 9 1 1 AT 10 1 | 1907 0 5 70 A1
R ST 8, 30 T 5 T A 6 9 7 ¥ 4 7, 7 T
|, S
SRS
3, T
4, T
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 8247247840 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TARTRF Ve O T & Vet e ST 3 A T 18 1 T 10 21 €] 1917 0 3 0 1
TR T 8, 30 9 5 4 5 3 1 7 v £, 7 T e )

[ A
). ES

3, T
4, WF
Options :
1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 8247247841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘TS ST’ STeaTaetT 99 UUT 7 % g1 Tfaurtea i me
|. TR e
2. ST =T
3. SUE

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 8247247841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“qTT9eR SLET’ YTeaTaet! Ta T fohe % ZRT ITauTed =i 722
|, SI%A he
2. STH =TSR
3. S uE. R

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 8247247842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



freferttas 3 & s oo & o o e = 3 oot s o s e 20

| 3T 371 S0 T

3 3
2. dr=H ?fli @ hiaA

3. U3 3R = F19

4. TS SR FE0 HIA
Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 8247247842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Treterrgs o @ s T %‘ﬁ%l{ T 9Tl T8 31 T s-@lum ToFalT T WA 27
| 3T T 430

3 3
2. 9= aﬁT GLECEEARIG!

3. U3 3R = F0
4. T3 7R 50 FI9T
Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 8247247843 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T R 6 T ST o e e o e 7 o e 6 e o e B e
| WI3T AT F e S

. WI3T AT ¥ R FEe U S e

. T3 ST % forelt s R e forg

-2

N TN

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 8247247843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T3 WA 3 U A1 1 a1 e 170 4 Toh 8 31 St O AT B 1w
| 3T AT & e S
. TTE7 T § (s e v S e
| WI3T W % T @ W e fore

-2

N T

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 8247247844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



SURITTERR TST8T0T 3T 397 3299 29
1. H*thdT f&wﬁm%%w Y STH0T T UT=|

. Tt & s &l
3. 7= TE W T WG TS AT S v Fw A F I TG
4. Tereter= =1 wTaT i fawe T TG

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 8247247844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
U= T80T =67 T 329 27

= [ Y =
i HF'GII_\GT mwn{-&g%mw H TR0T Rl U=

. Tt o s ot adter
3. TS T | 7 W S W 3h fawe awg et i w: wn
4. Torefefat it e ot fawer =g waT

Options :

-3

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247247845 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T 1 STV AT T T 6 T s vt & AT AT it o g e o
TR ERETAC DR e ACD b KR
| | frem oy
. 917 T et
. R A

e fata

Options :

e (%) [

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247247845 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR T 6 STV SO A T 9 e T 0 2 AT VT oA - 37 o
T RET e G2 KR
| | frem oy
. 917 T et
. R A

e fata

Options :

e (%) [

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247247846 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TTufie TR it Fwemett §, et st SRt AT U = s
1. =% faenfdat =t e a9e 59 | 5eE A1 2

. 7 Tt & foTu, Sfiummive uiaEsT giea et 2

3. ITEIIF H ATH AT TST =T 2

4. 7% ferenfdat it s W7ot i 3= w2

Options :

-2

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247247846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR T i et §, Tt At AT AN F uge = Fith
1. o= Tt =t s g9 59 | HeE A1 2
3. ITEUE § ATTHSA U2 2T 2
4. Iz Tt fi & 9T 3 I A 2

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247247847 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR = & -1 T 5 9168 WO feehiera i o1 Heret SF=gt Jr &1 o 27
| Teratreneft o st vTe shawd

; ﬁvmﬁaﬁﬁmmﬁ%aﬁ% ﬁdL{Eﬁ:i;-lH SHIEL

3. T U 9162 o TeTT ITedeh o 3|

4, 90 TTeET ¥ AT &

-2

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247247847 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
P o . i o e e e vt o T g A 7
| fortandt o wmmef wres e
2. Tow o et 5 T 7R o 37 o o, ST A
3. T U 9162 o TeTT ITedeh o 3|
4. ¥t 70 TT68T W 1T T

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247247848 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



19 s forrerT smemma 22

. T S STehT A0TSR HEHTSAT 1|
3788 3T 395 7Y =

Edﬁq‘? ?:ﬁ'{d-laﬂ =0T =hT|

™ [t i S
A ﬁ?dﬂmi LT =

g =

L]
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Options :
1.1
2.2
3.3

4.4

Question Number : 144 Question Id : 8247247848 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

319 Tasm ferrerT sremma 22

. FATHT 3T ST SATHTE SIS =)
3TeE 3 35k 7Y =)
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= IE e 3ﬁ1: Z1oh 2= 0l Shi|

[ o o b
= H E‘:ﬁ'{dﬂmi =41 A

e

LS
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Options :
1.1
2.2
3.3

4.4

Question Number : 145 Question Id : 8247247849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T TedT O Tt o1 S0 UgTd 999 i § 999 %% § 1@ =1
1. ot foreqmeff ot safisf=at 8 vp-game 2|
2. Tt Tamereff vep ot wTftafie e W o
3. Hﬁ%@&ﬁmw*@ﬁﬁ?ﬁmu 9 9 § T2 2|

4. |t TeraTreEt o e amaT, St ST 9 2

Options :

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247247849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR ST o T oht STUSIT UgTd 999 i § 999 g J T F1e?
I Hﬁﬁ‘%l?ﬂ'[&ﬁ 3701 »?Fl'l'r'ix-lbﬁt{é-l‘t ﬁ'u-:h ‘.g'l:|'|7-|‘§|
2. Tt farameff wen & aritaieer e ® o B
3. JT famanelf <ATsi v JiEe & o g9 B ¥ Tiedned 2
4. Tt Foretefa it fr—fir emamd, Safhea ofiT govfe 2

Options :

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247247850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T ot T & =9 o -8 T e = e =
1. STV % o0, ST T H 9o ¥ (T O )|
2. Teue & I1eE HUeT 3 19|
3. gy T, e, fereor o)
4. cd.lucnw%ﬁw\itl'{%ltiﬁmﬁm

Options:
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247247850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

W&ﬁf&wm—gﬁﬁﬂw %@rwﬁﬂnﬁ%ﬁmﬁrwm T g AR
1. STeETE % ToA, = AT 5 95 1S (1 0 )|
0. Teue 5 ITeE WUeT 3 a1 |
3. gy T, e, fereror o)
4. ﬂ!chtm%ﬁﬁﬂ\l‘tr{%ﬁ;ﬁm&trd

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247247851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Freferia = & =8 Fui Tl i Faw $T=gt 7 | Wea T 27
1. € AR 5 FHEaT i SETS Fl 2
2. TE AT H UTE T FTet STEHEAT i T 397 2
3. TE AT H HEWTE FI FF1ET 24T 2
4. IE AT H UTE S FTAT T st Tkt 3 2|

Options :

1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247247851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frefefign & & -1 qui fafaemr 1 7o) =2t 7 9 weE w7 22
. TE TN H FHETAT 3 SETE Fal 2|

2. TE A H TS T FTE STEAHAT i S 59T 2
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4. 7IE A H UTE S ATAT [Tl s S a2

Options :

—

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247247852 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tt = TRt T2 T 75 T ST &7 6 Y S e 2
|. eI g

. W fatr

3. HTEVITF vTe8 Tua

4. HTEHEE ST

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247247852 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wﬁ%‘“ﬂﬁﬂ@'ﬂm%x;ﬂﬁ@ﬁﬂm STTAT = WY ST =T 27
1. W T

. \TEHTe fafer

3. Wi 3168 HUaT

4. TR ST

Options :

[

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247247853 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FATAEd 5 -9 725 WINTET FHUUIaT 3 [o70 Sairars 59 9 Feeqy 87
|. UFeEH HE ISR H1Y US|
2. =g ToT@eae 9 o1 w5 F
3. HIAT UF vaTE et w
4. T AT FreAt fereer wTHt F suT|

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247247853 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FeAferfias & & i=-a1 ee Wt e 3 fom watfies =9 § Teeus 27
|. TEEH FE SRR % WY US|
2. =TT G H A A

3. HaaT UF TaTE et w
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247247854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247247854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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